
SLeesch
Typewritten Text
for use with "O" serial numbers
2-year warranty



1 2-100-207 ARMATURE 12V 3.62
2 421-302 BRUSH END HOUSING
3 2-200-301 CENTER HOUSING ASSEMBLY
4 2-400-338 PLAIN END ASSY (CONTAINS 4, 15, 17, 18, 19,)
5 2-600-168 BRUSH PLATE ASSEMBLY (CONTAINS 5, 6, 9, 18)
6 188-036 BRUSH
7 140-010 BEARING
8 830-007 SCREW #8-32
9 975-040 BRUSH SPRING
10 337-036 GASKET
11 2772917 LEADWIRE ASSEMBLY
12 701-081 O-RING
13 990-067 WASHER STEEL
14 990-070 WASHER NYLATRON
15 144-049 FLANGE BEARING
16 830-042 THRU-BOLT 10-32 X 8.83
17 880-003 SEAL
18 725-035 PAPER TUBE
19 880-006 SEAL WITH SHIELD
20 701-008 O-RING THRUBOLT
21 836-001 ALUMINUM PLUG
22 2387103 MOTOR ASSY 12V 3.625 55#
23 9950953 VELCRO 1.5 X 2.0 LOOP
24 9950950 VELCRO 1.5 X 2.0 HOOK
25 2990241 HAND CONTROLLER
26 2990246 CONTROL MODULE
27 2385401 SHRINK TUBE [4 EA]
28 2380211 TOP CAP
29 2383810 STRAP, EM
30 2383418 SCREW 1/4-20 SELF TAPPING [6 EA]
31 2381535 ADAPTER RING, REAR

  1378170 PROP KIT
32 2091170 PROPELLER
33 2092600 DRIVE PIN
34 2151726 WASHER 5/16, PROP
35 2198400 NUT, PROP ANODE
36 2381940 LOWER BRACKET
37 2381530 ADAPTER RING, FRONT
38 2383122 NUT 3/8-16 NYLOCK [6EA]
39 2381726 WASHER FENDER 3/8 X 1 1/4 OD [6 EA]
40 2381728 WASHER 3/8 [6 EA]
41 2383422 SCREW 3/8 X 1 1/4 [6EA]
42 2307310 FERRITE BEAD (EUROPEAN MOTORS ONLY)
43 2075401 HEATSHRINK (EUROPEAN MOTORS ONLY)
44 2373427 SCREW #12 X 5/8 [4 EA]
50 2385110 INSULATOR PAD, EM             

 2994856 BAG ASSY (CONTAINS 38-41,27,23,24,44, 50, & TIE WRAPS)

In the U.S.A., replacement parts may be ordered directly from MINN KOTA Parts Dept.,  121 Power Drive, P.O.Box 812
Minnesota 56002-8129. In Canada, parts may be ordered from any of the Canadian Authorized Service Centers shown on th
list. Be sure to provide the MODEL and SERIAL numbers of your motor when ordering parts. Please use the correct part nu
the parts list. Payment for any parts ordered from the MINN KOTA parts department, may be by cash, personal check, Dis
MasterCard or VISA. To order, call 1-800-227-6433 or FAX 1-800-527-4464.

* This item is part of an assembly. This item cannot be sold separately due to machining and /or ass

  PA
R

TS LIST

  C
IR

C
U

IT B
R

EA
K

ER
                                                                    D

ISJO
N

C
TEU

R

9

BOAT RIGGING AND MOTOR INSTALLATION:

An over-current protection device (circuit breaker or fuse) must be used with this system. Coast Guard 
requirements dictate that each ungrounded current-carrying conductor must be protected by a manually reset, 
trip-free circuit breaker or fuse. The type (voltage and current rating) of the fuse or circuit breaker must be sized 
accordingly to the trolling motor used. The following breaker sizes are recommended guidelines: 

Maximum thrust Voltage Recommended circuit breaker rating
EM55 12V 12V  60A @ 12VDC
EM80 24V 24V 60A @ 24VDC
EM101 36V 36V 50A @ 36VDC
EM160 24V 24V 120A @ 24VDC
EM202 36V 36V 100A @ 36VDC

The appropriate wire size needed to connect your Engine Mount System to the trolling motor batteries varies 
depending on the length of cable needed and voltage of the motor. For additional information, please consult 
appropriate ABYC (American Boat and Yacht Council) and Coast Guard requirements. 

Reference:
United States Code of Federal Regulations: 33 CFR 183 – Boats and Associated Equipment
ABYC E-11: AC and DC Electrical Systems on Boats

GRÉEMENT DE BATEAU ET MINN KOTA INSTALLATION:

Un artifice de protection suractuel (le disjoncteur ou le fusible) doit être utilisé avec ce système. Les 
exigences de Garde-côte dictent que chaque conducteur portant courant sans fondement doit être protégé par 
manuellement la reconstruction, le disjoncteur sans voyage ou le fusible. Le type (le voltage et l’estimation de 
courant) du fusible ou du disjoncteur doit être de grandeur en conséquence au moteur flânant utilisé. Les gran-
deurs de brisant suivantes sont recommandées des directives:

Voltage de poussée maximum estimation de disjoncteur Recommandée
EM55 12V 12V  60A @ 12VDC
EM80 24V 24V 60A @ 24VDC
EM101 36V 36V 50A @ 36VDC
EM160 24V 24V 120A @ 24VDC
EM202 36V 36V 100A @ 36VDC

Le calibre approprié devait raccorder votre Minn Kota le moteur au moteur batteries varie selon la longueur de 
câble nécessaire et de voltage du moteur. Pour les renseignements supplémentaires, consultez s’il vous plaît 
ABYC approprié (le Conseil d’Yacht et de Bateau américain) et les exigences de Garde-côte.

Référence :
Code Américain de Règlements Fédéraux : 33 CFR 183 – les Bateaux et l’Équipement Associé
ABYC E-11 : le courant alternatif et le courant continu les Systèmes Électriques sur les Bateaux



The hand controller comes equipped with approximately 18 feet of cable and is 
designed to be installed at or near the driver’s seat. Self-adhesive Velcro® fabric 
is supplied to mount the hand controller to any smooth surface. This allows you to 
remove the hand controller and operate it from anywhere in the boat. The controller, 
for example, can be mounted on or near the dash board, placed by the throttle control 
for the main engine or on the side of the driver’s seat.
•	 Be	sure	the	surface	where	you	are	going	to	mount	the	controller	is	clean	and	dry.	

Attach the fabric pad Velcro® to the back of the hand controller box. Attach the 
hooked pad piece of Velcro® to the boat where the controller will be located.

•	 Route	the	cable	from	the	controller	through	a	side	wall	or	along	the	edge	of	the	
floor of the boat to the battery area where the electronics module is located.

  IN
STA

LLA
TIO

N
 O

F  M
O

D
U

LE    IN
STA

LLA
TIO

N
 D

U
 M

O
D

U
LE      INSTALLATIO

N O
F  CO

NTRO
L   INSTALLATIO

N DE LA CO
M

M
ANDE 

6

Supplied with:
Hook Velcro®
Fourni avec : 
crochet Velcro®

CONTROL MODULE
MODULE DE 
COMMANDE HAND CONTROLLER

COMMANDE MANUELLE

VILOT (+)
GRAY (-)
RED (+)
ROUGE (+)

VIOLET (+)
VIOLET (+)

MOTOR
MOTEUR

BATTERY 1
BATTERIE 1

BLACK (-)
NOIR (-)

GRAY (-)
GRIS (-)

B
A

TTER
y IN

FO
R

M
A

TIO
N

    IN
FO

R
M

A
TIO

N
 SU

R
 LES B

A
TTER

IES                 W
IR

IN
g

 D
IA

g
R

A
M

   SC
h

éM
A

 D
E C

Â
B

LA
g

E

11

La commande manuelle vient équipée d’un câble d’environ 5,5 m (18 pi) et est 
conçue pour être installée au niveau ou près du siège du pilote. Une bande Velcro® 
autocollante est fournie pour monter la commande manuelle sur une surface lisse. 
Ceci vous permet de prendre la commande manuelle et de l’utiliser où que vous 
soyez sur le bateau. La commande, par exemple, peut être montée sur ou près du 
tableau	de	bord,	placée	près	de	l’accélérateur	du	moteur	principal	ou	sur	le	côté	du	
siège du pilote.
•	 Assurez-vous	que	la	surface	sur	laquelle	vous	pensez	monter	la	commande	

est propre et sèche. Collez la bande Velcro® au dos du boîtier de commande 
manuelle. Collez la bande à crochet Velcro® sur le bateau là où la commande 
sera située.

•	 Acheminez	le	câble	de	la	commande	par	une	paroi	latérale	ou	le	long	du	bord	de	
sol du bateau jusqu’à l’endroit des batteries où se trouve le module électronique.

Screws
Vis

Heatshrink connections
Connexions à revête-
ment thermorétractable

The control module contains all of the electronics that are used to 
control the speed of your MINN kOTA Motor. The control module 
should be mounted in or near your boat’s battery compartment. 
•	 To	mount	the	module,	mark	and	drill	1/8-inch	pilot	holes	and	

fasten securely with the four #10 screws provided.

Control Module
(single unit module shown)
Module de commande
(module pour une unité ici illustré)

Le module de commande contient tous les systèmes électroniques 
utilisés	pour	contrôler	la	vitesse	de	votre	moteur	MINN kOTA. Le 
module de commande devrait être monté dans ou près du compar-
timent de batterie de votre bateau. 
•	 Pour	monter	le	module,	marquez	l’emplacement	et	percez	des	

avant-trous de 3,17 mm (1/8 po), puis fixez-le fermement au 
moyen des quatre vis n° 10 fournies.

bATTERy INfORMATION:
The motor will operate with any deep cycle marine 12 volt battery/batteries. For best results use a deep cycle, marine battery with at least a 115 ampere hour rating. 

As a general on the water estimate, your 12 volt motor will draw one ampere per hour and your 24 volt motor will draw .75 ampere per hour for each pound of thrust 

produced when the motor is running on high. The actual ampere draw is subject to your particular environmental conditions and operation requirements. Maintain bat-

tery at full charge. Proper care will ensure having battery power when you need it, and will significantly improve the battery life. Failure to recharge lead-acid batteries 

(within 12-24 hours) is the leading cause of premature battery failure. Use a variable rate charger to avoid overcharging.

If you are using a crank battery to start a gasoline outboard, we recommend that you use a separate deep cycle marine battery/batteries for your Minn Kota trolling motor.

Advice regarding batteries:

 Never connect the (+) and the (–) terminals of the battery together. Take care that no metal object can fall onto the battery and short the terminals. This would 

immediately lead to a short and utmost fire danger. 
Recommendation: Use battery boxes and covered battery terminal clamps like Minn Kota accessory #MK-BC-1.

INfORMATIONS DE bATTERIE :
Les moteur fonctionnent avec toute batterie marine cycle profond de 12 V. Pour de meilleurs résultats, utiliser une batterie deep cycle ou 

toute autre batterie de 115 A/ht. En général, sur l’eau, un moteur de 12 V consomme 1 A/h par livre de poussée produite par le moteur 
à haut régime. Un moteur de 24 V consomme 0,75 A/h. La consommation d’ampères dépend aussi des conditions d’utilisation. Veiller 
à ce que la batterie soit toujours chargée à fond. Un entretien correct permet de garder toute la puissance de la batterie et augmente 
sa durée de vie. La durée de vie d’une batterie qui n’est pas régulièrement rechargée (dans les 12-24 heures) est généralement 
réduite. Utiliser un chargeur à régime variable pour éviter de surcharger la batterie.

En cas d’utilisation d’une batterie pour mettre en marche un moteur hors bord à essence, il est préférable de prévoir une ou deux bat-
teries marines Deep Cycle séparées pour le moteur de pêche Minn Kota.

Conseil quant à batteries :
Ne communiquez jamais le (+) et (-) les terminus de la batterie ensemble. faites attention qu’aucun objet en métal ne puisse 

tomber sur la batterie et court les terminus. Cela causerait immédiatement un danger de feu court et suprême.
Recommandation : Utilisez des boîtes de batterie et des attaches de terminus de batterie couvertes comme Minn Kota le complice 

*MK-BC-1.




